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Guess Paper – 2012
Class – X
Subject – Mathematics

General instructions:

I. All questions are compulsory.

2. The question paper consists of 34 questions divided into four sections A, B, C and D.

3. Section A contains 10 questions of 1 mark each, which are multiple choice type questions, Section B contains 8 questions of 2 marks each, Section C contains 10 questions of 3 marks each, Section D contains 6 questions of 4 marks each. There is no overall choice in the paper. However, internal choice is provided in one question of 2 marks, three questions of 3 marks and two questions of 4 marks.
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1.

3.

4.

5.

6.

7.

9.

10.

The 9" term of an A.P. is 449 and 449'" term is 9. The term which is equal to zero is :
(A) 501 (B) 502t
(C) 508 (D) none of these

A solid metallic spherical ball of diameter 6 cm is melted and recast into a cone with diameter
of the base as 12 cm. The height of the cone is :

(A) 2 cm (B) 3 cm (C)4 cm - (D)6 cm

If the altitude of the sum is at 60°, then the height of the vertical tower that will cast a shadow
of length 30 m is :
30
(4)3043m (B) 15 m © Fm (D) 1542 m
If the circumference of a circle increases from 4n to 8z, then its area is :
(A) halved . (B) doubled
(C) tripled * (D) quadrupled
If the roots of the equation (a? + b?) 2% — 2b (a + ¢) x + (b% + ¢ = 0 are equals then :
2ac

= 2 b= =
(A)2b=a+c (B) b% = ac ©) P D)b=ac
A cylinderical vessel of radius 4 cm contains water. A solid sphere of radius 3 cm lowered into
the water until it is completely immersed, the water level in the vessel rise by :

2 4 9 9
(A) 9 cm ®) 9 cm ©) 1 cm (D) 3 cm
Which of the following can not be probability of an event :
2

(A) 3 B -15 (C) 15% (D) 0-7
The value of \/g+ VB + v6 £ ... 18
(A) 4 (B)3 -2 (D) 35

ABC is a right angle triangle, right angled at B such that BC = 6 cm and AB = 8 cm. A circle
with centre O is inscribed i AABC. The radius of the circle is :

(A)1em (B) 2 cm (C)3 em (D)4 cm
The distance between two parallel tangents of a circle of radius 4 cm :
(A) 2 cm (B)4 ecm (C) 6 em (D) 8 cm
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Question numbers 11 fo 18 carry 2 marks each.

11
12.
18.

14.
15.
16

17.
18.

Using the quadratic formula, solve the equation : a?b%?® — (4b* — 3a%) x — 12a%% =0

The third term of A.P. is 3 and 11* term is — 21, Find its first term and common difference.
Two tangents PA and PB are drawn to a circle with centre O from an external point P.
Prove that ZAPB = 2 ZOAB.

Or
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

Find the radius of circle whose area is equal to the sum of the areas of three circles whose radii are
3 cm, 4 cm and 12 cm.

The line segment joining the points (3, — 4) and (1, 2) is trisected at the points P and Q. If the co-
5
ordinates of P and Q are (p, - 2) and ( ’ ‘I) respectively, find the values of p and q.

Find the area of a circular ring whose exbemﬂ and internal diameters are 20 cm and 6 cm.
Show that the points (7, 10), (- 2, 5) and (3, — 4) are the vertices of an isasceles right triangle.

_ALag contains 7 white, 4 red and 9 black balls. A ball is drawn at random. What is the probability

that ball drawn is not white ?
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Question numbers 19 to 28 carry 3 marks each.

19.

20.

21.

A two-digit number is such that the product of its digits is 15. If 18 is added to the number, the
digits interchange their places. Find the number.

Or

2(_“’;1)_7(_"_*&) =5
x+1 x-1

Solve for x :

Given that x # -3,x = 1.

2
Find the sum of the first 31 terms of an AP whose n'® term is given by 3 +§x.
The angles of elevation of the top of a tower from two points P and Q at distance 90 m and 40

m, respectively from the base and in the same straight line with it, are complementary. Find
the height of the tower.
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23. Draw a circle of radius 4-5 cm. At a point A on it, draw a tangent to the circle.

24. The diameter of the driving wheel of a bus is 140 cm. How many revolutions per minute must
the wheel make in order to keep a speed of 66 km per hour ?

Or

The sum of two radii of two circles is 140 cm and the difference of their circumference is 88
cm. Find the diameters of the circles.

25. A solid metal cone, with radius of base 12 cm and height 24 c¢m, is melted to form spherical
solid balls of diameter 6 cm each. Find the number of balls so formed.
Or

A solid metallic sphere of diameter 21 cm is melted and recasted into number of sma.lle‘r cohéé?
each of diameter 7 em and height 3 em. Find the number of cones so formed.

26. The 4™ terms of an A.P. is equal to 3 times of the first term and the 7™ term exceeds twice the
3™ term by 1. Find the first term and the common difference.

27. Find the ratio in which the point (2, y) divides the line segment joining the points A (- 2, 2)
and B (8, 7). Also find the value of y.




[image: image5.png]28. Cards, marked with numbers 5 to 50, are placed in a box and mixed throughly. A card
is drawn from the box at random.

Find the probability that number on the taken out card is
(i) aprime number less than 10.
(ii) a number which is a perfect square.
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(Question numbers 29 to 34 carry 4 marks each)

29. Two years ago, a man’s age was three times the square of his son’s age. In three

30.

31.

32.

33.

years, his age will be four times his son’s age. Find their present ages.
OR
If -5 is a root of the quadratric equation 2x2 + px — 15 = 0 and the quadratic equation
p(® + x) + k = 0 has ‘equal roots, find the value of .
A sum of Rs 700 is to be used to give seven cash prizes to students to a school for

their overall academic performance. If each prize is Rs 20 less than its preceding
prize, find the value of each of the prizes.

A circle touches the sides ofa quadrilateral ABCD at P, Q, RS respectively. Show
that the angles subtended at the centre by a pair of opposite sides are supplementary.

In Radhika’s house there is a flower pot. The sum of radii of circular top and bottom
of the flower pot is 140 cm and the difference of their circumferences is 88 cm. Find
the diameters of the circular top and bottom.

A cone of radius 8 cm and height 12 cm is divided into two pans by é plane through

the mid-point of its axis parallel to its base, find the ratio of the volumes of two parts.
' OR -

A well of diameter 3 m, dug 14 m deep. The earth taken out of it has been spread

evenly all around it in the shape of a circular ring of width 4 m to form an
embankment. Find the height of the embankment.

The angle of elevation of a jet fighter from a point A on the ground is 60°. Aﬂer a
flight of 10 seconds, the angle of elevation changes to 30°. If the jet is flying at a
speed of 432 km/hour; find the constant height at which the jet is flying.

[Use 43 = 1.732]
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